Vers la division 

16 : 2 = ………..	  quotient : ……	reste  : ……		vérification : …………………….
27 :  3 = ………..	  quotient : ……	reste  : ……		vérification : …………………….
21 : 3 =………..	 quotient : ……	reste  : ……		vérification : …………………….
32 : 4 = ……….. 	  quotient : ……	reste  : ……		vérification : …………………….
42 : 7 = ………..	  quotient : ……	reste  : ……		vérification : …………………….
35 : 5 =  ………..	 quotient : ……	reste  : ……		vérification : …………………….
20 : 5 = ………..	  quotient : ……	reste  : ……		vérification : …………………….


Vers la division (correction)

16 : 2 = 8	  quotient : 8	reste  : 0		vérification : 2 x 8 =16
27 : 3 = 9	  quotient : 9	reste  : 0		vérification : 3 x 9 = 27
21 : 3 = 7	 quotient : 7	reste  : 0		vérification : 3 x 7 = 21
32 : 4 = 8	  quotient : 8	reste  : 0		vérification : 4 x 8 =32
42 : 7 = 6	  quotient : 6	reste  : 0		vérification : 6 x 7 = 42
35 : 5 =  7	 quotient : 7	reste  : 0		vérification : 7 x 5 = 35
20 : 5 = 4	  quotient : 4	reste  : 0		vérification : 4 x 5 =20





